Place for Rational & Educational Motivations!!

SET-3

o™ 30/2/3

T A wliernefi He w IT-YETH F GE@-I8
Roll No. T v fod |

Candidates must write the Code on the
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e Please check that this question paper contains 11 printed pages.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 31 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.
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QT 3397 :

i) @y AarT &/

(i) ST YH-97 H 31 I97 8 51 IR @US] — 37, &, § 3N T H faunfaa & /

(iii) @US 37 H Uh-Uk 37 dici 4 J97 8 | @US 7 7 6 97 & 574 @ 9% 2 37
FTE | @8 G F 10 I97 @F-d17 371 & & | @ ¢ H 11 ¥97 3 574 @ 39%
4 3% FTE |

(iv) PHAPAR] BT JTIT FH BI 377AIT TETE /|

General Instructions :
(i) All questions are compulsory.

(it)  The question paper consists of 31 questions divided into four sections —A,
B, C and D.

(iti) Section A contains 4 questions of 1 mark each. Section B contains
6 questions of 2 marks each, Section C contains 10 questions of 3 marks

each and Section D contains 11 questions of 4 marks each.

(iv)  Use of calculators is not permitted.

Qs A
SECTION A

97 GE&IT1 G4 T I o7 1 376 F1 5 |

Question numbers 1 to 4 carry 1 mark each.

1. 9. x8 ™. x2 M. famati arct &1q % TH I =AW HI fUEe 2 WL e
% W U4 § ST T 2 | 39 YhR &4 HA1 Sl T&IT [ hIfT |

A solid metallic cuboid of dimensions 9 mx8 mx2m is melted and

recast into solid cubes of edge 2 m. Find the number of cubes so formed.
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O %5 941 QOR =4TH % Th gd W U el fog P § Tovit@n PQ ©i=h T3
21 A L POR =120°%, @ £ OPQ i AT &1 g ?

PQ is a tangent drawn from an external point P to a circle with centre
O, QOR is the diameter of the circle. If £ POR = 120°, what is the
measure of £ OPQ ?

T 15 . Tl € §aR % "1 60° 1 BT SAN 2 | 39 foeg I HaATE [M@
HIfTe et et Gar TRt w7 |

A ladder 15 m long makes an angle of 60° with the wall. Find the height
of the point where the ladder touches the wall.

a3 fema i 6x2 —x—k = 0 I Th 4 g 2, @ k@1 TF T HIRC |

If one root of the quadratic equation 6x2 —x —k =0 is g, then find the

value of k.

Qs d
SECTION B

o7 G5 & 10 T FA% J97 2 3H F1 8 |
Question numbers 5 to 10 carry 2 marks each.

30/2/3

If¢ T THIR IgYS % o EF N (3, 2) T (=1, 0) B qAT 3Hh TohUl
(2, — 5) W Ufdeasg Hd &, af 317 g1 i o Feme 7 Hifvw |
If two adjacent vertices of a parallelogram are (3, 2) and (- 1, 0) and the

diagonals intersect at (2, — 5), then find the coordinates of the other two

vertices.
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6. & TE 3rhfa #, A AB = AC 8, 1 fag Fifw f% BE = EC.

A
D F
B E C
In the given figure, if AB = AC, prove that BE = EC.
A
D F
B E C

7. U Ay (<fiu av) # 53 WIER g < Tiiesdr rd I |
Find the probability that in a leap year there will be 53 Tuesdays.

8.  If U TWIR Ul & 7d Ug I A AT 35k 119 9¢ % W TH o 9K 3,
dl 3HehT 1847 9 AT BT 2
If seven times the 7! term of an A.P. is equal to eleven times the 1t
term, then what will be its 18™h term ?

9. o fafya el 1 Uk Ty BT T | T HEART HT UEGA 18 F FHH B 6

TTRrekal ST I |

Two different dice are thrown together. Find the probability that the
product of the numbers appeared is less than 18.

10. x%%ﬂ%ﬂ@ﬁﬂl
V3x% —2x-843 =0
Solve for x :
V3x% —2x-843 =0
30/2/3 4
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Qs |
SECTION C

97 &7 11 8 20 T J4% 7 3 371 H1 & |
Question numbers 11 to 20 carry 3 marks each.

11. fag Hifse fs B ABC ek sfid A (-2, 0), B(0, 2) @21 C (2, 0) &,
A DEF 5@ 3§ D (-4, 0), F (4,0) 9 E (0, 4) 8, % G989 & |
Show that A ABC with vertices A (— 2, 0), B (0, 2) and C (2, 0) is similar to
A DEF with vertices D (- 4, 0), F (4, 0) and E (0, 4).

12. @ TE Sl H, A ABC, 3 3hTE Y 1 Th GHeTg S B | 36h 3= o1 I
& fagenes wma Fifve |

AY C

X’ 0 > X
A (2,0) B

Y/ v
In the given figure, A ABC is an equilateral triangle of side 3 units. Find
the coordinates of the other two vertices.

AY C

A (2,0) B
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& M empfd #, ABCD Uk @Had wgyd, feeh gqed AB = 18 @i,
DC = 32 &Hi, AB || DC T ABd AC % &9 i gt 14 & 8 | A/ A, B, C T
D ! shg oo 7 9t g9 B & =g Jf9 e E, 9 oifed W 1 &%
14 HINT |

D 32 @i

A 18 ot B

In the given figure, ABCD is a trapezium with AB || DC, AB = 18 cm,
DC = 32 ecm and the distance between AB and AC is 14 cm. If arcs of

equal radii 7 ecm taking A, B, C and D as centres, have been drawn, then
find the area of the shaded region.

D 32 cm

¢\\ J// g

A 18 cm B

fag e % g9 % ufera s agds 1 ma-ama it g9l 99 F hg W
G IV AN L & |

Prove that the opposite sides of a quadrilateral circumscribing a circle
subtend supplementary angles at the centre of the circle.
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15. U HHR 61 frell v i @1, 38 S 6l F TH & 59 g H1 3994 B0
60° 2 | TS BT & THT G HT IAIT IV FG HIAT |
The shadow of a tower at a time is three times as long as its shadow

when the angle of elevation of the sun is 60°. Find the angle of elevation

of the sun at the time of the longer shadow.

16. & T IHd H, PA 991 PB U " fog P & g9 h weii@d €, v
PA = 4 Ot 991 « BAC = 135° 2 | Sfia1 AB &l &g F1d <hifS |

In the given figure, PA and PB are tangents to a circle from an external
point P such that PA = 4 cm and £ BAC = 135°. Find the length of chord
AB.
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20.
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fargati (3, —2) @M (- 3, —4) = W It T@rETes H FHEWHG 9
forgati o fgeres sma hIfvTe |

Find the coordinates of the points of trisection of the line segment joining

the points (3, — 2) and (- 3, — 4).

afg x & fgema @i (2 — ab) x2 — 2 (a® — be) x + b — ac = 0 % UA THE
ﬁ,?ﬁiﬂﬁQ%W?ﬁazOW a3 + b3 + ¢3 = 3abe.

If the quadratic equation (c2 —ab)x% — 2 (a® — be) x + b — ac = 0 in x, has

equal roots, then show that either a =0 or a% + b3 + ¢ = 3abe.

50 UGl shl Teh THIGT AT |, TAH 10 YaT 1 ANTHA 210 & e 3ifdq 15 9ai <
AR 2565 8 | FHIG IS Td HIRT |

In an A.P. of 50 terms, the sum of the first 10 terms is 210 and the sum of
its last 15 terms is 2565. Find the A.P.

6 T ST & Teh 319 Tl hl, HMMh T & IH § W Th TH-AT STHIHR
A4 § STl AT 8 | SR a4 1 ™ 12 FHt 7 | IS e quia: aet |
F T @, T SOERR S0 H T 1 TR fhaAT W I8 e 2

A solid sphere of diameter 6 cm is dropped in a right circular cylindrical
vessel partly filled with water. The diameter of the cylindrical vessel is
12 cm. If the sphere is completely submerged in water, by how much will

the level of water rise in the cylindrical vessel ?
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LG L
SECTION D

J97 &I 21 & 31 TF 9% Jo7 4 3H FT & |

Question numbers 21 to 31 carry 4 marks each.

21. foag $ifvu 6 & s forg 8 9 | &=t T q eni@e & aw@rsar qauH
Bl 2 |
Prove that the lengths of two tangents drawn from an external point to a

circle are equal.

22. TS Sl U {7 AU S=d T Ueh Uid-89T 1 Tkl [octsh | Slawdl 8 | 98
gfdfed st s # wieeaw % faees 1 Uit ueh-ush wgrdl @ | 3 et |
Ur9-%9T % Hol 190 f&eh T "ehd B, d1 @ hive fh a8 fohad T3 =
Toceh H Y19-89T o f8eh ST Tohd] 8 a1 384 $o feha1 94 S=RIT |
Fod i I 3ed W 9 fo=m fafag |

A child puts one five-rupee coin of her saving in the piggy bank on the
first day. She increases her saving by one five-rupee coin daily. If the
piggy bank can hold 190 coins of five rupees in all, find the number of
days she can continue to put the five-rupee coins into it and find the total

money she saved.

Write your views on the habit of saving.

23. T Uk i AR 7 H. AH o g hHl & | I8 0-7 H. AL h T F @
B3 2 | 30 TEd W EHS T &1 @9 AT hioQ, Afq 3qehl Amra ufd & .
T 1107 |

A park is of the shape of a circle of diameter 7 m. It is surrounded by a

path of width of 0-7 m. Find the expenditure of cementing the path, if its
cost is ¥ 110 per sq. m.
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50 M. x 40 Hi. faHI=T It UH AAERR Ul H U ARAERR dad ST 8,
g a1 & 9/ TR g9 =ieTE Y S 91E <l ugt 1 &%d 1184 ot .
2 | ATATd hl RIS eI TS [1d hifY |

In a rectangular park of dimensions 50 m x 40 m, a rectangular pond is

constructed so that the area of grass strip of uniform width surrounding
the pond would be 1184 m2. Find the length and breadth of the pond.

Tl I AT LA B | 3oh &ABAl Bl AMHA 116 737 THY g qAT Ik hrgi
o 1= 1 gt 6 4t 2 | gl 1 Brsand 3 i |

Two circles touch internally. The sum of their areas is 116 &t em? and the

distance between their centres is 6 cm. Find the radii of the circles.

Tk g § 90 fe&h (Discs) 8, 5 W 18 90 d A ifeha & (T oo
W TH gE) | A 39 S99 § 9 U et Agesdn Merel S @, i s6eh!
wifreRar ra hifse o 58 fewk W sifera gRft (i) @ 37! i T T, (i) 5 3
favrsy & T |

A box contains 90 discs which are numbered from 1 to 90. If one disc is

drawn at random from the box, find the probability that it bears (i) a
two-digit number, (ii) a number divisible by 5.

3 Ht. | H1 TH FHAT 14 H. TR q% @Ig T | el et 18 g o
5 . =Sl T JAThR 9@ (Ring) SH % O T0H ®9 § Har T 921 Th
kT <Rl S8 ST AT | 39 o919 shl =18 J1d hIoT |

A well of diameter 3 m is dug 14 m deep. The soil taken out of it is spread
evenly all around it to a width of 5 m to form an embankment. Find the
height of the embankment.

x o 7T &t <hIfST
4x? + 4bx — (a2 —b?) = 0
Solve for x :
4x2 + dbx — (a2 -b%) =0
10
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3 4wt Brse =1 U g Wiy | 36 1 3R 9 g Uh AW W, 39 b5 4
3F ot ¥ Fratia femett # e 7 990 6 2 W A g P e QRN |
¥ 3 fogatli PA Q¥ 90 W FRi@ Eifem |

Draw a circle of radius of 3 cm. Take two points P and Q on one of its

diameters extended on both sides, each at a distance of 7 cm on opposite

sides of its centre. Draw tangents to the circle from these two points
P and Q.

U URTE! 1 A1t & qd foum i o et Tar 7 g swumTa fehaindier et veeri
o 3TSHA IV AN 45°F 30° 7 | TBTS! hi HaTs [ HINT |
From the top of a hill, the angles of depression of two consecutive

kilometre stones due east are found to be 45° and 30° respectively. Find
the height of the hill.

T AE-gTT WP hl dF HET H Fied & [T 3Hh Sa18 Pl 3Hh IMMYUR &
THIG & FHAA! gRI M SUeR WET H §iel T 2 | guise foh R ¥ oy
T T g A W o SARAHI hT AT 1: 7 : 19 B |

A right circular cone is divided into three parts by trisecting its height by

two planes drawn parallel to the base. Show that the volumes of the three
portions starting from the top are in the ratio 1: 7 : 19.
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